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No, | K =F & # B |EEm)| AT FIFABR
1 | EXxih 50% G 5,940

2 | Exith 513 G 2,517

3| xRt T28% 2 Y 6, 892

4 | Exih h4% 3 Y 1, 856

5| Exits 607 1 Y 823

6 | LFih 60% 2 ji 161

7 | EXih 60% 3 G 2,587

8 | Lxith 612 1 G 739

9 | Ltxih 634 G 2,087

10 | xRt 667 1 H 1,675

1| Exith T23% 3 G 152

12 | xRt h6% 2 G 1,502

13| =it 56% 3 s 111

14 | xR h6E 4 s 176 :
15 | =i 60% 5 s 1,418 E% BRESRURIES
16 | =it 657 2 s 1,016

17 | Exith 65% 3 s 2,540

18 | =it T23% 1 s 1, 581

19 | xR T24% 1 s 3,000

20 | Exith YES) A 2,001

21 | LExith hT1#& 2 A 1,574

22 | LExith hT#& 3 yGi 838

23 | LExith K& 4 A 581

24 | LExith h8E 1 A 2,451

25 | LExith h8#& 3 A 2,194

26 | L=t 59% 1 Y 13

27 | LExith h9# 2 Y 95

28 | LExith T25% 1 Y 3,297
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No, | K i & #h B |@mEm)| RNE HMABEN

1 = B 4000 1 & 449

2| &5 B 40011 & 380 KEE B EmES
woh | AbES

3| &5 B 4036 1 I 942 BB

4 | & B 4038 1 & 541

5|1 & % T78%5 1 Y 469 RS FEEE

6 | B = 37263 3 I 81

7| B & 37268& 4 Y 138

8| m =% 37278 i T2 (59N BIEE N U R

9 | m = 3728% ' 150

10| Bk =% 3733& 4 Y 124




